GENERAL APTITUDE

(A) 100 cm? (B)

(C) 144 cm? (D)

A square has a side of 12 c¢cm. Find its area.

125 cm?

164 cm?

TH A @ qel 12 U ? | SHRl &9%d F@ HIfNT |

(A) 100 G2 (B)
(C) 144 g2 (D)
2. If 22! =—, then the value of  is :
8ii—.
(A) -2 (B)
©) 2 (D)
afy 22l = = 2, a0 n N A ®
(A) -2 (B)
©) 2 (D)
3. The value of z><;=‘?'
5 2 1
+—of 1
6 3 4
(A) 2 (B)
©) 12 (D)
2 3
ZX———— Tl HH =7
33 + 2 of 1 I
6 3 4
(A) 2 (B)
©) 12 (D)
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4. Father is aged three times more than his son Ronit. After 8 years, he would be
two and a half times of Ronit’s age. After further 8 years, how many times would

he be of Ronit’s age ?

1

(A) 2 times (B) 25 times
3 .
—  times times
©) 24 D) 3

faar &1 39 oqH W UG W A T oetfus ? 1 8 W 9%, @€ UM Wi
SU H TR A B | SFE 8 aW & AR, ¢ UM hl W N TRaAM A
g ?

1
(A) 2 T B) 25 T

3
© 27 T (D) 37T

5. A man riding his bicycle covers 150 meters in 25 seconds. What is his speed in

km per hour ?
(A) 20 (B) 21.6
(C) 23 (D) 25

T AR UEfRd Weme 25 Wevs H 150 Wi i g0 @9 @l © |
Igs! Mg fedl wfg e § e ? 2

(A) 20 (B) 216

©) 23 (D) 25

(5)M-23012-A(TR) 2



6. The value of 1/0.000441 is equal to :

(A) 0.0021 (B) 0.021
(€) 021 (D) 0.00021
J0.000441 H HM W T :

(A) 0.0021 (B) 0.021
(C) 0.21 (D) 0.00021

7. Ifa*b=a+ b+ ab, then3 * 4 -2 * 3 is equal to :
(A) 6 (B) 8
(€) 10 D) 12
qﬁa*b=c:+b+c:b,ﬁ3*4—2*3W%:
(A) 6 (B) 8
(€) 10 D) 12
8. By selling a bicycle for Rs. 2,850, a shopkeeper gains 14%. If the profit is reduced
to 8%, then the selling price will be :
(A) Rs. 2,600 (B) Rs. 2,700
(C) Rs. 2,800 (D) Rs. 3,000

TH UEfRd ® 2,850 TA H dEH W Th THFEIR Hl 14% HT @H Bl
2 | A o9 s 8% WX fEm W, @ fawa gen @

(A) 2,600 TTF (B) 2,700 TTA
(C) 2,800 T9& (D) 3,000 ¥T

(5)M-23012-A(TR) 3 P.T.O.



9. The average of the first five natural numbers which are multiples of 9 is :
(A) 20 (B) 27
(C) 28 (D) 30
wor W URRd Wemsl w1 ofEd, S 9w U ®, =
(A) 20 (B) 27

(C) 28 (D) 30

10. The roots of the quadratic equation x> —3x—4=0 are :
(A) -4, 1 B) 4, -1
©) 4,1 D) -4 -1

feoma @i x°-3x-4=0 % ya T :

(A) —4,1 B) 4, -1

©) 4,1 D) -4,-1
11. Dictionary : Definition :: ................. . Map

(A) Direction (B) South

(C) Longitude (D) Atlas

EHRE ¢ TR 2 e, : HEEA

(A) feum (B) =fam

() < (D) T

(5)M-23012-A(TR) 4



12.

13.

I walk 30 metres in North-West direction from my house and then 30 metres in
South-West direction. After this, I walk 30 metres in South-East direction. Now,

I turn to my house. In what direction am I going ?
(A) North-East (B) North-West
(C) South-East (D) South-West

T oo R W 30 Her sw-ufvem fewm ek few 30 e <femr-ufEm
feer & wa@ € | e 9 § <fam-gd fem d 30 W W@ €1 e,
T o R OHKI R Few % 1 F fRw fam F w1 ow@ € 2

(A) SW-9d (B) SR-uf¥=H

(C) =fgu-vd (D) sfarm-ufy=m

Direction : Choose the correct alternative from the given ones that will complete

the series :

6, 11, 21, 36, 56, ?

(A) 42 (B) 51

(C) 81 (D) 91

frder : feu T fosedwl ¥ ® @@ wEl fawew gfU S qwen @ q@ owam e
6, 11, 21, 36, 56, ?

(A) 42 (B) 51

(€) 81 (D) 91

(5)M-23012-A(TR) 5 P.T.O.



14. Pointing to a photograph of a boy, Surender said, “He is the son of the only son

of my mother.” How is Surender related to that boy ?

(A) Brother (B) Uncle

(C) Cousin (D) Father

Th TeH HI TER H FR TR HW gL, GE A Hel, ‘I WG W &

THA 9 W W9 2 | GE 39 s ¥ fRE weR Hefua 2
(A) (B) ==
(C) ==u W (D) fu
15. If Q means ‘add to’, J means ‘multiply by’, T means ‘subtract from’ and K means
‘divide by’, then 30 K2 Q3J6T5 =7
(A) 22 (B) 28
(C) 47 (D) 48

afe Q w1 @ © ‘add to’, J # ¥ ¥ ‘multiply by, T #1 e 2

‘subtract from’ 3R K w1 @ 2 ‘divide by’, @ 30 K2Q3J6TS5 =2
(A) 22 (B) 28

(C) 47 (D) 48

(5)M-23012-A(TR) 6



16.

17.

Find the missing term :

R
SAY

(A) 45 (B) 49
(C) 56 (D) 64
q@ T€ A SN e

N
A

(A) 45 (B) 49

(C) 56 (D) 64

Direction : Study the following question carefully and choose the right answer :
If POST is coded as KLHG then how is NURS coded as ?

(A) MFJH (B) MGIJH

(©) MFIH (D) MFIG

few : fafafgs g =1 oFgds semga @ifen ok @E SW gfu
afe POST ®1 KLHG &% ®91 H #Hgadg f&Ha s & @ NURS & &9
Hedg fear smum 2

(A) MFJH (B) MGJH

(C) MFIH (D) MFIG

(5)M-23012-A(TR) 7 P.T.O.



18.

19.

Find out which of the diagrams as given in the alternatives correctly represents

the relationship stated below :

Mountains, Forests, Earth

09 |@®@ |O»© 9

(a) (b) (c) (d)

(A) (a) B) ()

©€) (o) (D) (d)

T wifou R fawen § fau T oema@l § ¥ wmw o R g moweEy
® WE T ¥ quiar ¥

TBTg, S, geat

9 |@ |O»© 9

(@) (b) (c) (d)

(A) (a) B) (®)
©) (© D) (@)
A is 13th from the top, B is 18th from the bottom. When A and B change their

position then A becomes 21st from the top. What is the new position of B from

the bottom ?
(A) 25 B) 26

(C) 27 (D) 28

(5)M-23012-A(TR) 8



ATid @ 138 ®H W 2, B 49 ¥ 184 WM W 2 | w9 A 3R B
IO TIM SEed & oAl A INY W 219 WM W ST Wl ¥ | W ¥ B &I

T OwWE oW § ?
(A) 25 (B) 26

(C) 27 (D) 28

20. Identify the figure that completes the pattern :

El w g @ @

(X) (1) (2) (3) (4)
A 1) ®B) @)
© ) D) @

39 pfa W wEmiE S Yed w qu e ® e

El w g @ @

(X) (1) (2) (3) (4)
A) (1) B) )
©) 3) D) @

(5)M-23012-A(TR) 9 P.T.O.



21.

22,

23,

24,

GENERAL ENGLISH

Choose one of the following options that means the opposite of the given word :

FLEXIBLE
(A) Supple (B) Pliable
(C) Rigid (D) Bendable

Choose one of the following options that means similar to the given word :

KIN
(A) Exult (B) Twist
(C) Friend (D) Relative

Find the correctly spelt word :
(A) Adverisity (B) Advercety
(C) Adversity (D) Advercity

Out of the four alternatives, choose the one which can be substituted for the given

sentence :
A disease which spreads by contact
(A) Incurable (B) Infectious

(C) Contagious (D) Fatal

In this question, four alternatives are given for the Idiom/Phrase in bold in the
sentence. Choose the alternative which best expresses the meaning of the Idiom/

Phrase as your answer :
I met him after a long time, but he gave me the cold shoulder.
(A) scolded me (B) insulted me

(C) abused me (D) ignored me

(5)M-23012-A(TR) 10



26.

27.

28.

Fill in the blank with an appropriate preposition :

The doctor gave me a prescription................ my cough.
(A) for (B) at
(C) with (D) to

Given below are four jumbled sentences. Select the option that gives their correct

order :

P : Children are the most adversely affected.

Q : Their eyesight goes weak from their very childhood.

R : Watching television continuously is very harmful to the eyes.

S : This debilitating effect on the eyes results in severe headaches as well.
(A) PRQS (B) RPQS

(C) RQSP (D) PQSR

In the question given below, a sentence given with blanks is to be filled in with

an appropriate word (s). Choose the correct alternative out of the four :

Population growth tapers off with............... literacy, access to contraception and

social and economic................ .
(A) decreased, progress

(B) increased, progress

(C) improved, regress

(D) stagnant, duress

(5)M-23012-A(TR) 11 P.T.O.



29. Direction : In this question, a sentence/part of the sentence is bold. Below are
given alternatives to the bold sentence/part of the sentence which may improve

the sentence. Choose the correct alternative :
He found a wooden broken chair in the room.
(A) wooden and broken chair

(B) broken wooden chair

(C) broken and wooden chair

(D) No improvement

30. Fill in the blank :

Football is.............. most popular sport in the world.
(A) the (B) an
(C) a (D) None of these

31. Direction : In this question, a sentence is given with a blank to be filled in with

an appropriate word. Choose the correct alternative out of the four :
If you had followed the rules, you.............. disqualified.

(A) will not be

(B) would not be

(C) will not have been

(D) would not have been

(5)M-23012-A(TR) 12



32. A sentence has been given in direct form. Out of the four alternatives, choose

33.

34,

the one that best expresses the same sentence in indirect form :
He said, “I will return tomorrow.”

(A) He said that he will return tomorrow.

(B) He said that he would return tomorrow.

(C) He said that he would return the next day.

(D) He said that I would return the next day.

Change the voice :

They will laugh at you.

(A) You can be laughed at by them.
(B) You may be laughed at by them.
(C) You will be laughed at by them.

(D) You will have been laughed at by them.

Direction : In this question, a sentence is divided into four parts. There is an

error in one of the parts, which makes the sentence grammatically or contextually

incorrect. Choose the option with the part containing the error :
It was him/who came/running/into the classroom.

(A) It was him

(B) who came

(C) running

(D) into the classroom

(5)M-23012-A(TR) 13
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3S.

Instruction : Choose the most appropriate adjective from the options to fill in

the blank :

He was a(n)............... speaker, captivating the audience with his wit and charisma.
(A) eloquent (B) verbose
(C) incoherent (D) mundane

Direction (Q. Nos. 36 to 40) : Read the passage carefully and answer the following

questions :

5G technology is on the horizon, promising to revolutionize our world with its
breakneck speed, near-instantaneous response times, and ability to connect billions
of devices simultaneously. Imagine downloading a full-length movie in seconds,
experiencing virtual reality without lag, or watching a surgeon perform a delicate
operation from miles away in real-time. This is the future that 5G beckons, and
it's closer than you think. This next generation of cellular network technology
boasts significant advancements over its predecessors. Blazing-fast speeds up to
20 times faster than 4G enable ultra-fast downloads, seamless streaming, and real-
time applications. Near-instantaneous response times, measured in milliseconds,
are crucial for applications like remote surgery, autonomous vehicles, and
immersive gaming. The ability to connect billions of devices simultaneously paves
the way for the Internet of Things (IoT) and smart cities, where everything from

traffic lights to kitchen appliances are interconnected and intelligent.

This transformative technology has the potential to disrupt and enhance various
sectors, from healthcare and manufacturing to transportation and education.
Imagine doctors performing remote surgeries on patients in rural areas, factories
optimizing production processes with real-time machine monitoring, self-driving
cars navigating roads safely and efficiently through communication with each other
and infrastructure, or students experiencing immersive virtual reality classrooms.
The possibilities are endless, and as 5G networks expand and mature, we can
expect to witness a new era of innovation and connectivity, reshaping our world

in ways we can only begin to imagine.

(5)M-23012-A(TR) 14



36.

37.

38.

39.

40.

Which sector would most benefit from 5G’s near-instantaneous response times ?

(A) Retail industry (B) Education sector

(C) Healthcare sector (D) Finance industry

Find a synonym for ‘beckons’ as used in the passage :
(A) Forces (B) Entices

(C) Restricts (D) Impedes

Find an antonym for ‘simultaneously’ as used in the passage :
(A) Continuously (B) Simultaneously

(C) Sequentially (D) Intermittently

What does the concept of ‘smart cities’ imply in the context of 5G ?
(A) Cities with large populations

(B) Cities with advanced infrastructure and interconnected devices
(C) Cities focusing on environmental sustainability

(D) Cities with strict traffic regulations

What is the main idea of the passage ?

(A) 5G is a new type of smartphone with advanced features.

(B) 5G promises to revolutionize various sectors with its speed, responsiveness

and device connectivity.
(C) 5G is mainly relevant to entertainment and gaming industries.

(D) 5G is a temporary solution for overcoming slow internet speeds

(5)M-23012-A(TR) 15
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GENERAL HINDI

41. ‘TRFA' ITAM ® WiEA H F AH BT ?
(A) S5 HAR

(C) <ahi=A
(D) THE=
42, FHAEE & T K FM AH T ?
(A) TEfE™ (B) @ [HH=R
(C) Feasr=r (D) HRE
43. ‘fygs @ ° dma 9@ 2 aemErs % fou W ov= @
(A) F= (B) e
(C) fydm (D) fas=
44, ‘Ff@’ W w oFW Hqd T ?
(A) @R (B) WM
(C) =etam (D) @fasH
45. ‘vER’ W= W F oY ® 2

(A) B) T
(C) ¥R (D) Ted

(5)M-23012-A(TR) 16



46. ‘TR’ U= w1 faudd@es v sEAE § 2
(A) 3Ted (B) 3teAfd
(C) sem (D) 3ueT

47. T HAE TR wHR fwA 7 O?

(A) @ (B)
(C) e (D) e

48. "\ 4 o wEl " W 9 H fRw wre & fag e w@m ogem € 2
(A) wdl HRE
(B) ®H &R
(C) = =k
(D) ¥EH HNE
49. ‘M3 w W' e H dm w7 2
(A) W= (B) wrEEH
(©) 3ol (D) HERR
50. ‘feraem’ v w1 wE whu-fasg @wmE €2
(A) R@ + o
B) fma + s
(C) T + sfe@

(D) Frar + a1

(5)M-23012-A(TR) 17 P.T.O.



51

52.

53.

54.

. T OB UR g § 2

(A)

(©)

(A)

©)

(A)

©)

(A)

(©)

HEh (B)

TR (D)

T W wEE W= sifdn g2

e (B)

NET| (D)

T W HEE VR Fgaed § 2

qIEHIT (B)

il (D)

T U eHEw v= fEE € 2

T (B)

EIE (D)

. T W OHAE A g € ?

(A)

(B)

(©)

(D)

gl & W & TS AR |

TRY

TR

Ieh 1

G T 9 Wl HF ol IR Td e |

T SO < AR BIET |

Aied H YBI, IH HIGH BAT |

(5)M-23012-A(TR) 18



56. T W ®EE YR @R foRmm T2
(A) T (B) A

(C) =&gd (D) el

57. ‘g ®E g T S 2 gemers % far T u= @ e
(A) ST (B) e
(C) faa (D) &R

58. T ¥ HEW VR ‘THA WK k1 wEEEEr T2
(A) T (B) R

(C) |HR (D) TeETEe

59. T W wHEE U= YS T ?
(A) ¥R (B) &g

(C) foaH (D) HHH

60. 39 ¥ DA UK ‘AW = w1 fawiaeiws T 2
(A) F=1 (B) 3=
(C) T4 (D) foorea

(5)M-23012-A(TR) 19 P.T.O.



GENERAL KNOWLEDGE

61. Motilal Nehru Sports School is located in which district ?
(A) Rohtak (B) Sonipat
(C) Sirsa (D) Panchkula

e e Ted wha fRe e ¥ fem €2

(A) Edh (B) Hitud
(C) fawm (D) =l

62. Where is Badkhal lake situated in Haryana ?
(A) Faridabad (B) Rewari
(C) Rohtak (D) Jind
e ¥ SgEa e wel fem ¥ 2
(A) THHRER (B) =
(C) Teah (D) iz

63. Which among the following sites in Haryana, is the place as per legends where

Lord Krishna delivered the sermon of Bhagavad Gita ?
(A) Badkhal lake

(B) lJyotisar

(C) Mansa Devi temple

(D) Baba Rameshwar Das temple

(5)M-23012-A(TR) 20



64.

e A feafafed § @ eFw e, feacfddll & SFER 98 W ¢ @l

W HT A SEa w1 3uew feAm em ?
(A) FEEd Ha

(B) wfamR

(C) w4 =& Hi

(D) @1 THYER 3@ A

Pick the odd one out from the following :

Hint : some of them are Panchayati Raj Institutions.

(A) Gram Sabha

(B) Gram Panchayat

(C) Gram Co-operative society

(D) Nyaya Panchayat

frafafes & & fomm w1 gfw

Thd : 9 U D vuEdl U9 GEnd €|
(A) TH =

(B) T dErId

(C) v gesrt wifa

(D) =™ v=Ed

(5)M-23012-A(TR) 21
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65. Which section of society is supposed to be benefited by Mid Day Meal scheme ?

(A) Daily wage employees

(B) Girls who are residing in youth/girls hostels

(C) School going children

(D) Those taking treatment in hospital

e 9ied gieFl 9 9uN % fRw Gt sl 9w g difew ?
(A) 3 FqArT FHHER

(B) @efFal & Faed Bed H w® OWOE

(C) &ra WM dad a=d

(D) &I H TA A dTel

66. Ranji Trophy is related to which sport ?
(A) Hockey (B) Football
(C) Cricket (D) Kho-Kho
WSt 2wl fRe Wa § Hefya @ 2
(A) @Thl (B) s
(C) foshe (D) w@i-@l

(5)M-23012-A(TR) 22



67. India won the maximum number of medals in which of the following years in

Asian games ?

(A) 2018 (B) 2023

(€) 1951 (D) 2014

wEE we § 9Rad 4 fefafed § 9 e od weifes v S92
(A) 2018 (B) 2023

(C) 1951 (D) 2014

68. Which of the following are the functions of Gram Panchayat ?
(A) Maintaining roads of the village
(B) Maintenance of School buildings in the village
(C) Collecting local taxes

(D) All of the above

TH veEa % frefafed @ @ wME owE & 2
(A) Tfa H TEH B W@-W@E

(B) TMa H ThHA wEdl w1 TE-T@E

(C) TIHa X THA &

(D) Sdx @

(5)M-23012-A(TR) 23 P.T.O.



69. What is the real name of Sir Chhotu Ram Ji ?
(A) Ram Richpal (B) Chand Ram
(C) Chotte Lal (D) Ram Chand
W BIZ M S w1 adfaw TH o T ?
(A) T R (B) ¥ W

(©) Br = D) ™

70. Where will you always find days and nights of equal length ?
(A) Equator (B) Poles
(C) Prime Meridian (D) Nowhere
AR Hed THE SEfy & fad R qd wel fher ?
(A) A= @i B) 94

(C) " HRfezd (D) ®E

71. Which river of India is known as Jamuna in Bangladesh ?
(A) Yamuna (B) Teesta
(C) Brahmaputra (D) Ganga

(5)M-23012-A(TR) 24



72.

73.

IRG H HAEH TG AR § GG kAW °§ 9 o § 2
(A) a9 (B) e

(C) w&gA (D) T

Which of the following movies is based on sports ?
(A) Guide (B) Sholey
(C) Dangal (D) Jawan
frefafed & & #md fhed ®a W emif@ ® 2
(A) TES ®) i

(C) 3 (D) <@

Where is Silent Valley National Park located ?
(A) Tamil Nadu

(B) Kerala

(C) Uttarakhand

(D) Jammu and Kashmir

UEee defl TN IUM wEl | © 2
(A) afFeTg

(B) &

(C) SWEs

(D) S $R HYHR

(5)M-23012-A(TR) 25
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74. What is the name of the capital of Rajasthan ?
(A) Jaipur (B) Jodhpur
(C) Bikaner (D) Jaisalmer
USRI 1 TS w1 o AW 72
(A) SR (B) SuE
(C) (D) SN
75. “Veer Bal Diwas’ observed to mark the martyrdom of the sons of which Sikh
Guru ?
(A) Guru Gobind Singh
(B) Guru Arjan
(C) Guru Har Gobind
(D) Guru Tegh Bahadur

‘TR G faw' few e T o® T * YRR & fafgd W & fau

TR S © 2
(A) & e fHz
(B) T& TH

(C) T& & ez
(D) T& T eI

(5)M-23012-A(TR) 26



76. Which year has been declared the ‘International Year of Millets (IYM) ?
(A) 2021 (B) 2022
(C) 2023 (D) 2024
frg o &l ‘i W oM ad (IYM)' wifim feem wnm @ 2
(A) 2021 (B) 2022
(C) 2023 (D) 2024
77. In which of the following months ‘National Panchayat Awards Week’ is
celebrated ?
(A) March (B) April

(C) May (D) June

frfafes & @ fre #dH ¥ ‘U YEEd R 9@E' mEE S @ § 2
(A) = (B) s

(€) = (D) 3

78. Which leader’s birth anniversary is commemorated as National Unity Day ?
(A) Mahatma Gandhi
(B) Jawaharlal Nehru
(C) Sardar Vallabhbhai Patel
(D) Dr. B.R. Ambedkar

(5)M-23012-A(TR) 27 P.T.O.



fre @ ® SEd URE Twa fGow % ®9 W AR S € 2

(A) were e

(B) VORI "EE

(C) URER TeA9dE Ted

(D) Bl WL STEEH

79. What is the name of the longest river in India ?
(A) Godavari (B) Brahmaputra
(C) Indus (D) Ganga
WRA H TOH ol A w e AW g 2
(A) TEmERD (B) =LA

(C) fay (D) M

80. Which one of the following is also known as ‘Regur Soil’ ?
(A) Laterite soil (B) Yellow soil
(C) Black soil (D) Alluvial soil
frefafad § @ fFe ‘YR fEY’ # w9 s S oS © 2
(A) e fagt (B) et fagt

(C) wret fozd (D) i fagt

(5)M-23012-A(TR) 28



FUNDAMENTAL OF COMPUTERS

81. The computer-assisted method that helps in the recording and analysis of a

hypothetical or an existing system is known as :
(A) Data processing (B) Data capture
(C) Data flow (D) Data transmission

F-HeAd W fafy S feedl weuftes @ dis@ womelt s fEifen @R
fagermm o W Wl 2, wear @

(A) S T (B) TR H=R

(C) = gare (D) s i

82. Which of these computer languages do we use in artificial intelligence ?
(A) PROLOG (B) FORTRAN
(C) COBOL D) C
FoM dfgm H e T ¥ fRE FTEE 9 %1 STEM e € 2
(A) PROLOG (B) FORTRAN
(C) COBOL (D) C
83. Which of these parts would interpret a program's instructions to initiate the control
operations ?
(A) Logic unit (B) Control unit
(C) Storage unit (D) Input

(5)M-23012-A(TR) 29 P.T.O.



T ¥ pHE W fEEw HEen 3 W % fau wum % fadei &
T HEN ?

(A) TH THE (B) =M =i

(C) werRw T&rE (D) =4

84. e-Mail uses :
(A) Synchronous communication
(B) Asynchronous communication
(C) Digital Flop

(D) Flip-Flop

(A) qaIfds E9R

(B) IJedshlfcieh HdR
(C) fesfred vty
(D) frera-weirg

8. ... 1s the computer program that would convert an assembly language to

the machine language.
(A) Interpreter (B) Compiler
(C) Comparator (D) Assembler

--------------- T HAN YW T W TR A WM w WA AT H agd M|
(A) =R (B) IR
(C) X (D) 3FHaR

(5)M-23012-A(TR) 30



86. The total time for which any piece of equipment would operate is known

as............. time
(A) Effective (B) Seek
(C) Real (D) Access

mﬁmaﬁ@dlmdﬁwﬁmﬁ@wqﬁ ............... 9 % ®9 H

516 1O 1 o -
(A) weret (B) @
(C) ar=fasw (D) wav (TEH)

87. What access method do we use to obtain any record out of a cassette tape ?
(A) Random (B) Direct
(C) Sequential (D) Indirect
FU2 Y 4 HE &R ww w@ & fau =0 few wm fafy w1 swm
A T ?
(A) FRf=H (B) w4
(€) IHHH (D) s

88. What is the CPU’s section that interprets, selects and also sees to a program

instructions' execution ?
(A) Register unit (B) Control unit

(C) ALU (D) Memory
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AT, # 9e eHEm F ¥ W wmm el w1 oAmem e ®, WA
2 o e feued & o Jma ? 2

(A) orex ziE (B) frEm 3E

(€) Tue, (D) s

89. One packet on any data link is called :
(A) Group (B) Block
(C) Frame (D) Path
fdt e@ fdws W wh T # wE W@ 2
(A) o (B) =i
(C) ®H (D) ™

90. What is the common boundary present between two systems known as ?
(A) Interface (B) Surface

(C) Interdiction (D) System

I yfedl & = OeR GEeE "HH H F FEl W € ?

(A) 3T®H (B) wdE
(C) siafeiy (D) goTTeA
91. ... is a computer that has been designed so that it is as compact as possible.
(A) Supercomputer (B) Mini
(C) Mainframe (D) Microcomputer
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92.

93.

--------------- T HgR ¢ N9 W WeR fesEd e w6 ae guem sidee

2o
(A) gRHFAR (B) fi
(C) =%H (D) WIEHHFHR

Which of these is a general-purpose microcomputer that is single-user and is

designed to be operated by just a single person at any given time ?
(A) M (B) PC

(C) KIPS (D) Special-purpose computer

T W HA TH I §ASH dell AR @ S Uhe-SUgnehdl @
R Tt ot wHg wad wh @ wft gW guifed W & fau fesA e

™ § ?
(A) ™ (B) L
(C) KIPS (D) TaRMN-WESH  HEER

A total of how many bit codes are used for TELEPRINTER machines by Murray

code ?
(A) 25 (B) 9
€) s (D) 4

TR HE FW bR Wi & fau g7 et fae wie &1 sw=m fea sm
g 2

(A) 25 B) 9

©) 5 (D) 4
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9., ... refers to the datum that would indicate the important state in an input

or output content.
(A) Sentinel (B) Sequence
(C) Sibling (D) SIO

.............. SH S H HfHd WAl @ W feRel 3qe A1 enseye Wi W Hewyol
feofa i @ wem

(A) "= a (B) AIHH
(C) faafam (D) TH.STE.3M.

95. Keyboard is a/an
(A) Software
(B) Input Device
(C) Output Device

(D) Application Software
R — 3

(A) TR
(B) ¥T3e feamew
(C) 3meeye feamw

(D) U&iyE HiFaR

96. Chrome is a :
(A) Monitor (B) Web Browser
(C) Hardware (D) Compiler
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97.

98.

(A) wif (B) 39 TS

(C) Eam (D) TR

Big Data refers to :

(A) Large Volume of Data

(B) Hardware

(C) Memory Management

(D) Cache Memory

far grap w1 T w@ T
(A) B HI FE HE

(B) TEIW

(C) ORI waEd

(D) =3 HER

C++ is a/an :

(A) Binary Language

(B) Object Oriented Language
(C) Web Application Language

(D) Web Design Language
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Ct T 3
(A) @R A

(B) ifssige oiftuds s«
(C) o9 Uty o
(D) @& fesgA s«

99. Which of these output devices is used for the translation of information from any

computer into a pictorial form on the papers ?
(A) Card punch (B) Touch panel

(C) Plotter (D) Mouse

TH ¥ fhe eseye feamd 1 swM fHdl wFR € gEA W HIS W
fooicqs &9 d oaR we @ foq fewm @ ? 2

(A) FE T= (B) ==

(C) i (D) W=H

100. A list of various coded instructions is known as :
(A) Flowchart (B) Utility programs
(C) Algorithm (D) Computer program
fafe= wifsa fdei &1 g=ft * ®a1 S 7 o
(A) e (B) SwAIfial s
(C) T (D) FFgR Hum
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KEY-SET-A

FOC

Q. No.

Ans

81

82

83

84
85

86

87

88

89

90
91

92

93
94

95

96
97

98
99

100

GK
Q. No.

Ans

61

62

63
64
65
66
67

68
69

70
71

72
73

74
75
76
77
78
79
80

HINDI

Ans

Q. No.

41

42

43

44
45

46

47

48

49

50
51

52
53
54
55

56
57
58
59
60

GE

Ans

Q. No.

21

22
23
24
25
26
27
28
29
30
31

32
33
34
35
36
37
38
39
40

GA

Q. No.

Ans

10
11

12
13
14
15
16
17
18
19
20




